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NEW QUESTION 1
An administrator can attach a baseline to which two inventory objects? (Choose two.)

A. Resource pools
B. ESXi hosts

C. Data centers
D. Datastores

E. Templates

Answer: BC

NEW QUESTION 2

An administrator is tasked with upgrading an existing VMware vSphere 6.5 environment to version 7.0. There are existing VMFS3 and VMFS5 datastores in the
environment.

Which two statements are true regarding this upgrade? (Choose two.)

A. An ESXi 7.0 host can automatically upgrade a VMFS5 datastore.

B. VMFS3 is no longer supported with ESXi 7.0.

C. VMFS5 is no longer supported with ESXi 7.0.

D. An ESXi 7.0 host will automatically upgrade a VMFS3 datastore when discovered.
E. A VMFS3 datastore cannot be upgraded; a new VMFS6 datastore is required.

Answer: CE

NEW QUESTION 3
An administrator wants to enable bandwidth allocation for workloads by using Network I/O Control. What should the administrator configure to accomplish this?

A. Load-balancing

B. Virtual machine traffic
C. NIC teaming policy
D. Management traffic

Answer: C

NEW QUESTION 4
ESXi provides VLAN support by assigning a VLAN ID to which component?

A. Virtual standard switch

B. Virtual distributed switch

C. Port group

D. Physical network interface card (NIC)

Answer: D

NEW QUESTION 5
What is a minimum disk controller requirement for VMware vSAN?

A. A disk controller in pass-through or RAID 5 mode
B. A disk controller in pass-through or RAID 0 mode
C. A disk controller in pass-through or RAID 1 mode
D. A disk controller in JBOD mode

Answer: B

NEW QUESTION 6

A new vSphere 7.0 environment is deployed with the following:

* A single vCenter Server

* Two VSAN clusters

* A vSAN default storage policy

Which statement is true regarding virtual disk availability in this environment?

A. Replicas will be placed on different disk groups but can be placed on the same host.

B. Each virtual disk will have two replicas of data.

C. All stripes will be placed on different disk groups and cannot be placed on the same host.
D. Each virtual disk will have four replicas of data.

Answer: D

NEW QUESTION 7

A company has a vSphere environment consisting of the following characteristics:

* A content library named 'CORP' is published at corporate headquarters on a vCenter Server named 'vcenterCorp'.

* A regional data center contains a set of hosts managed by a vCenter Server named vcenterR1.

« vcenterR1 subscribes to the CORP content library.

The administrator wants to create a new virtual machine image to use on vcenterR1. What are two possible ways the administrator can accomplish this task?
(Choose two.)
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A. Upload the new image to a local content library on vcenterR1.

B. Publish the CORP content library on vcenterR1.

C. Upload the new image to the CORP library on vcenterCorp.

D. Upload the new image to the CORP library on vcenterR1.

E. Configure vcenterR1 to download all library content immediately.

Answer: BD

NEW QUESTION 8
A single host is manually configured to company standards.
Which option would an administrator select to capture this configuration for future use?

A. Reset Host Customizations
B. Import Host Profile
C. Extract Host Profile
D. Attach Host Profile

Answer: C

NEW QUESTION 9

There are two vSphere clusters in a company environment. One cluster is hosting development workloads and another is hosting production workloads. Both
vSphere clusters are managed by the same vCenter Server. The application team would like to move a new virtual machine from the development to production
cluster with no downtime.

Which feature would allow non-disruptive movement between these two clusters?

A. vSphere High Availability
B. vSphere Replication

C. vSphere vMotion

D. Cross vCenter Migration

Answer: B

NEW QUESTION 10
What is the server virtualization product that combines the ESXi hypervisor and the vCenter Server?

A. vSAN

B. vRealize Operations Manager
C. vSphere

D. NSX

Answer: C

NEW QUESTION 10
Which two VMware features are supported in a virtual machine using Intel Software Guard Extensions (Intel SGX) technology? (Choose two.)

A. vSphere vMotion

B. Storage I/0 Control

C. Virtual machine suspend and resume
D. VM encryption

E. Fault tolerance

Answer: BE

NEW QUESTION 15
An administrator is running a variety of vSphere 6.5 cluster configurations and is tasked with upgrading to vSphere 7.0. Which two conditions could cause potential
conflicts or outages to the virtual machines (VMs)? (Choose two.)

A. The use of a Windows vCenter Server system

B. The use of third-party custom vSphere Installation Bundles (VIBs) installed on the ESXi hosts
C. The upgrade of an external platform services controller

D. Datastores attached to the hosts based on VMFS3

E. The upgrade of a vSphere Distributed Switch with VMs attached

Answer: CE

NEW QUESTION 16

Which step is required when adding an existing hard disk that is configured as a boot disk during virtual machine creation?
A. Set the boot delay to at least 5,000 milliseconds.

B. Enable Secure Boot.

C. Select 'RDM Disk' from the 'Add New Device' drop-down menu.

D. Remove the existing disk before adding the boot disk.

Answer: B

NEW QUESTION 19
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Which tool is used to monitor the vCenter Server Appliance resources?
A. vimCop

B. esxtop

C. esxcli

D. vmstat

Answer: B

NEW QUESTION 23

An administrator runs third-party software in a virtual machine (VM). The third-party licensing agreement requires payment of a license fee for each host to which

the VM migrates.

How can the administrator configure Distributed Resource Scheduler (DRS) to minimize licensing costs?

A. Create a 'Virtual Machines to Virtual Machines' dependency rule.
B. Create a 'Virtual Machines to Virtual Machines' affinity rule.

C. Create a 'Must run Virtual Machines to Hosts' affinity rule.

D. Create a 'Should run Virtual Machines to Hosts' anti-affinity rule.

Answer: C

NEW QUESTION 28
What are two supported ESXi boot options? (Choose two.)

A. vSAN

B. NFS

C.iscCslI

D. SAN

E. vSphere Virtual Volumes

Answer: BE

NEW QUESTION 31
What are two functions of vSphere Lifecycle Manager? (Choose two.)

A. Run vCenter Server upgrade pre-checks

B. Update ESXi hosts in a cluster using baselines

C. Update standalone ESXi hosts using images

D. Upgrade VMware Tools and virtual machine hardware
E. Run vCenter Server interoperability reports

Answer: AE

NEW QUESTION 32

How does vSphere handle memory allocation during the instant clone process?

A. Memory is shared among all child virtual machines using a delta disk.

B. The first child virtual machine serves as a memory snapshot for any subsequent child virtual machines.
C. An identical clone of the parent virtual machine's memory is created for each child virtual machine.

D. A unique memory pool is created per child virtual machine using copy-on-write.

Answer: C

NEW QUESTION 36

An IT department is experiencing random hardware failures that are costing the company money. The CIO is looking for technical support beyond traditional

break/fix with enhanced visibility and proactive insights into the environment at no additional cost.

Which VMware service meets the needs of the CIO?
A. VMware Global Support Services

B. VMware Premier Support

C. vRealize Operations Manager

D. VMware Skyline

Answer: C

NEW QUESTION 40

An administrator wants to implement virtual machine encryption. Which component encrypts the virtual machine files?

A. Key management server (KMS)
B. Key encryption key (KEK)

C. Certificate

D. Data encryption key (DEK)
Answer: B

Explanation:

Passing Certification Exams Made Easy

visit - https://www.surepassexam.com



\l;/ Exam Recommend!! Get the Full 2V0-21.20 dumps in VCE and PDF From SurePassExam
L' Sure PHSS https://www.surepassexam.com/2V0-21.20-exam-dumps.html (109 New Questions)

https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.vsphere.security.doc/GUID-9035D542-B76B-4

NEW QUESTION 42
An administrator adds an additional host to a cluster and is attempting to remediate the configuration with a host profile. Which option would the administrator
select on the host before it can be remediated with an existing host profile?

A. Export Host Profile

B. Attach Host Profile

C. Export Host Customizations
D. Copy Settings from Host

Answer: C

NEW QUESTION 43
Which solution can be used to automatically deploy a fully configured VMware software-defined data center (SDDC)?

A. vSphere Lifecycle Manager
B. VMware Cloud Foundation
C. vRealize Suite
D. vCenter Server

Answer: A

NEW QUESTION 46
Which two storage technologies can an administrator use to deploy the Virtual Machine File System (VMFS)? (Choose two.)

A. iSCSI storage

B. vSAN storage

C. Fibre Channel storage
D. Virtual Volumes storage
E. NFS storage

Answer: AE
NEW QUESTION 47

vCenter High Availability (HA) protects vCenter Server against host and hardware failures. What is the minimum number of ESXi hosts required to enable this
capability?

o0
O ~N P W

Answer: C

NEW QUESTION 50
Which TCP/IP stack can support management traffic, vSphere vMotion, IP storage and vSphere Fault Tolerance?

A. vSphere vMotion TCP/IP stack
B. Provisioning TCP/IP stack

C. VXLAN TCP/IP stack

D. Default TCP/IP stack

Answer: D

NEW QUESTION 54
Refer to the exhibit.

What is the effective role the testl account has on the Finance01 virtual machine?

A. Virtual machine user
B. Administrator

C. Read-only

D. No access

Answer: A

NEW QUESTION 57
An administrator would like to make virtual machine templates and 1ISO images available to all vCenter Server instances in the data center. Which feature should
the administrator use to achieve this goal?

A. Host profiles

B. Resource pools
C. Storage policies
D. Content libraries
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Answer: D

Explanation:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.vm_admin.doc/GUID-254B2CES8-20A

NEW QUESTION 60
Refer to the exhibit.

Which trusted infrastructure component is missing and represented by the area labeled "A?"

A. Attestation Service

B. Key Provider Service

C. vSphere Virtual Machine Encryption
D. Key Management Server

Answer: A

NEW QUESTION 64
What is a pre-requisite for increasing datastore capacity?

A. The datastore is 100% full.

B. The datastore is managed by Storage DRS (SDRS).

C. The backing device for the datastore has enough free space.
D. There are NO powered-on virtual machines on the datastore.

Answer: C

Explanation:
https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.vsphere.storage.doc/GUID-D57FEF5D-75F1-4

NEW QUESTION 69
What are two pre-requisites for enabling ESXi secure boot? (Choose two.)

A. External Key Management Service

B. Unified Extensible Firmware Interface (UEFI)
C. vCenter Server 7.0 or greater

D. ESXi 7.0 or greater

E. Trusted Platform Module version 2.0

Answer: CE

Explanation:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.security.doc/GUID-10F7022C-DBE1-4

NEW QUESTION 71

An administrator is asked to take a snapshot of a virtual machine prior to an application upgrade. The virtual machine has one standard virtual machine disk
(VMDK) and one physical mode raw device mapping (RDM) attached.

Which statement is true with regard to taking this snapshot?

A. The administrator will be unable to snapshot the RDM.

B. The administrator will be able to snapshot both disks.

C. The administrator will be able to snapshot the standard VMDK in independent persistent mode.
D. The administrator will be able to snapshot the RDM in independent persistent mode.
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Answer: D

NEW QUESTION 75
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